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x| nl fl nixi ficc | nixi% |nixi cc% Pi-pi-1 qi+qi-1 Brown| B=brown/2
15| 20| 0,25 300| 0,25(0,0867|0,086705 0,25 0,086705202 0,0216763| 0,01083815
30 32| 04 960| 0,65/0,2775(0,364162 0,4 0,450867052 0,1803468 | 0,09017341
60| 16 0,2 960| 0,85(0,2775]0,641618 0,2 1,005780347 0,2011561| 0,1700578035
90 8 0,1 7201 0,95/0,2081(0,849711 0,1 1,49132948 0,1491329| 0,074566474
130 4| 0,05 520 110,1503 1 0,05 1,849710983 0,0924855| 0,046242775
80 1| 3460 1 0,6447977| 0,322398844
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x| nl fl nixi ficc nixi% | nixi cc% Pi-pi-1 qi+qi-1 Brown| B=brown/2
1 8| 0,16 8| 016| 0,058|0,057971 0,16]0,057971014 | 0,0092754| 0,004637681

2| 13| 0,26 26| 0,42|0,1884|0,246377 0,26]0,304347826 | 0,0791304| 0,039565217

3| 17| 0,34 51| 0,76|0,3696|0,615942 0,34]0,862318841 | 0,2931884 | 0,146594203

4 7|1 0,14 28 0,9]0,2029|0,818841 0,14]1,434782609 | 0,2008696 | 0,100434783

5 5 0,1 25 110,1812 1 0,1 1,81884058|0,1818841| 0,090942029
50 1 138 1 0,7643478| 0,382173913
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x| nl fl nixi ficc nixi% | nixi cc% Pi-pi-1 qi+qi-1 Brown| B=brown/2
500 180,144 9000| 0,144 (0,0377|0,037736 0,144 0,03773585 0,005434| 0,002716981
1500 60| 0,48| 90000| 0,624(0,3774|0,415094 0,48 0,45283019 0,2173585| 0,108679245
2500 30| 0,24| 75000| 0,864 |0,3145| 0,72956 0,24 1,14465409 0,274717| 0,137358491
3500| 12(0,096| 42000 096|0,1761| 0,90566 0,096 1,63522013 0,1569811| 0,078490566
4500 5| 0,04 22500 110,0943 1 0,04 1,90566038 0,0762264| 0,038113208
125 11238500 1 0,730717| 0,365358491
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